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@9 a4 x3x2=24(cm?) Ut
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(Ag@A o] Ba}) = (7h2)x (A=) x (&°I)
kA 9 x 7x 5 = 315(cm?)
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(=wAe #u)) = (71=) x (A=) x (&°])
=13 x 13 x 13 = 2197(cm?)
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O 7F=2 5cm, A2 5cem, 0] 5em ¢ ASHA
@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA

B

@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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> HE 0.126m?

0.6 X 0.7 X 0.3 = 0.126( m?)
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> el 142cm?

(yo]) =3 x5 = 15(cm?)
(F4Hel) =(5+3+5+3)x7=112(cm?)
(BHol) = 15x 2 + 112 = 142(cm?)
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gSAA o] Fu]) =3 x3x3 =27(cm?)
H7|GR7F 5700] B2 27 x 5 = 135( cm?)
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> HE . 125cm®
3Hf Eol7] A gt {e] Yol 75 + 3 = 25(cm?) 0| B2

dol= s5emPyth. wEbA, AS A-sHA o Fo
5x5x5 = 125(cm?) YUt
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@ 4, 1.5¢cm ® 7} 2cm

Bl

B

2.7L = 2700 mL = 2700 cm?

(7} T2 29| £o])= 2700 + (25 x 12) = 9(cm)

(U 52] £2] £0])= 2700 + (15 x 18) = 10( cm)

w2tA U 59 9] £0|7F10-9 = 1(cm) H EHYTh
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EAAE g QA= HEAEUL HE A=
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5X4x3=060(cm?)
A=) 2= + @
168 + 60 = 228( cm?)
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® 216cm? @)228 cm? ® 256 cm?
@ 278 cm? ® 282cm?
@ ??;cm
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(@2 wa)
= (12-5) x4 x (3+3) = 168(cm?)
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» Eh cm?

> HEHD 160000 cm®

1m = 100 cm ©] B2 2m=200 cm
Lot B2] 1£0]: 96 - 80 = 16( cm)
9] B 200 x 50 x 16 = 160000( cm?)
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[> HEF: 184cm?

(8x4)x2+ (8+4+8+4)%x5
= 64 + 120 = 184( cm?)
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O 240 cm? @ 300 cm? @ 360 cm?
@ 420 cm? (@)480 cm?

S5 ~
(FlollA & 2eh)=(Z4Hol)

(oA 2 2eF)=(FH)
ZAylo)= (8 x8)x2+

= 128 + 352

= 480( cm?)
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> HE D 203.5cm?

(8.5x6)x2+ (85+6+85+6)x3.5
=102 + 101.5 = 203.5( cm?)
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@(4+4)x2x4
@ 4x4x6

® (4x4)x2+ (4x4)x4
@ (4x4+4x4+4x4)x2

@ Axd+4xd4+4x4+4x4+4x4+4x4
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A2 6 7ol Wole o 6 = 864 cm? YTt
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(A 9] Zol7t 2em?l F-SHA 2] Hyo])
=2x2X6=24(cm?)

(BAE 9] Zol7t 6em?l F-SHA ] Hyo])
=6x6x6=216(cm?)

= 216 =+ 24 = 9(Hl)
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o] 7F 40 cm? 0] B2 7F2E= 40 + 5 = §(cm)
40%x2+ (8+5+8+5)x[_|=236
80+ 26 x| | =236
26 x[_|=156
[ ]=6(cm)




